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(i) FIH-TAAFTI3 THE |
(ii) @ TT A & | 9% G771 & GHET 3 SlHd [T TTE |
(ill) FTHFH-YT T2 3HH & 5 T, 3 3Pl & 5 Jo7 415 3H & 3 Yo7 & /|
(iv) 2 371 GTel J97 TG~ F97 & 7T 573 I 30-50 ¥1e51 4 177 /|
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(Vi) 5 P! 1e7 F97 GIE-FTrIT 97 & o7 39% IR 80-120 5] 7 Fforw |
(vii) FeT-97 4 [t o gBR FT Gu faskeq 78 & | g1ilie, F gel 4 Ik [daey
v 7w & | e 57 5971 F @ et vk yoT BT E IHE |
(viii) 39 ¥97-97 H G/TId TERT J77 41 & |/
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1. (a) afzse Iwrars fhgl T BT ehres THTEl T Sooig i |
atera
(b) waq fespra o feregl g Tl T IeorE W | 2
2. HI b g fefetRad e < gfy o
TG 3T o I3 TR I AT o HHIG STHNT TG A &Il & 17
3. (a) U IS G, TehNIcHe STEAAT3TT TR ThRIcHeh STEATATS H 37T T Y | 2
e
(b) SUIHI ISTFT R, Tieh T o JaITg = § 3T T h | 2




General Instructions :

()
(1)

(iii)

(iv)

(v)

(v)

(vii)

This question paper contains 13 questions.

All questions are compulsory. Marks are indicated against each
question.

This question paper contains § questions of 2 marks each, § questions of
3 marks each and 3 questions of § marks each.

2 marks questions are Short Answer Type questions and are to be
answered in 30 — 50 words.

3 marks questions are Short Answer Type questions and are to be
answered in 50 — 80 words.

5 marks questions are Long Answer Type questions and are to be
answered in 80 — 120 words.

There 1s no overall choice in the question paper. However, internal
choice has been provided in few questions. The candidates need to

attempt only one question from such questions.

(viit) This question paper contains Case/Source Based Question also.

1. (a)

(b)

State any two harmful effects of Global warming. 2
OR
State any two advantages of ‘sustainable development’. 2

2. Justify the following statement with valid argument :

‘At higher levels of income people generally have lower Marginal
Propensity to Consume (MPC). 2

3. (a) Using a suitable example, distinguish between positive externalities

and negative externalities. 2
OR
(b) Using a suitable example, distinguish between stock variables and
flow variables. 2
E 56
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4. ToE Ty H SE-59 9 ¥ gfg B 8, A @ G h AEavEhdis § wrh
IiErd= AT R |
AT 319 ST T A | T8Hd 3 ? ITYHR b GRT STI I BT FH Y |

5. (a) U hlcu-eh AAEARYT & T 319 o Fger T <! T e, Foeeh ar 8 91 71
8, 6
() @ R (Ig) = % 20,000 FS AT
(i) 39 ®erE; C = 4000 + 0.8Y,
& C =3uma Y = 3.
reran
(b) TH Hicuieh Afeqaedt & fou, 3ma ¥ qfitadT (AY) it 7o H, s s d =8
A g,
() i s=[ ygfa (MPS) = 0.25, 7
(i) e ® ufEa (AD) =R 10,000 HUE

6. (a) T Hlcd(eh Ty ¥ Hifgeh Tehct Tie] ITE o Yool <hi TTUMHT i, Tafch Ig AT
3 o amfereh TeheT TIe] 3cUTE I Yo i A 3 1,000 HUS T 250 F |
e
(b) T SO g0 T8 Hi o, Frafalea T 9 = wra K i 1= ¥ gitfera &
&2
() @I Wi IR H 380 (Shares) 1 T ek g1 @ |
(i) 9 H AR AETE H B ST Dl o 1 P |
(ii) T femerd o1 o1 3Tfua feumn

7. Teh hlcdieh IS R, Ueh Jreferarcy & forarer 1ureh At shrdgoredt 1 feemr o |

! E;m



4. ‘In any country, as the income rises the composition of infrastructure

requirements changes significantly.’

Do you agree with the given statement ? Support your answer with

suitable argument. 2
5. (a) Calculate equilibrium level of income for a hypothetical economy for
which it is given that :
(i) Autonomous Investment (I5) =% 20,000 crores, and
(i) Consumption function; C = 4000 + 0.8Y
Where C = Consumption and Y = Income. 2
OR
(b) Calculate, change of income (AY) for a hypothetical economy, for
which it is given that :
(1) Marginal Propensity to Save (MPS) = 0.25, and
(i1) Change in Investments (AI) =3 10,000 crores. 2
6. (a) Calculate the value of Nominal Gross Domestic Product (GDP) for a
hypothetical economy. The values of Real Gross Domestic Product
(GDP) and Price Index are given as I 1,000 crores and 250
respectively. 3
OR
(b) Giving valid reasons explain, which of the following will not be
included in the estimation of National Income in India ? 3
(1) Purchase of shares by an investor in the Bombay Stock
Exchange.
(i) Salaries paid to Russians working in Indian Embassy in Russia.
(ii1) Imputed rent of self occupied houses.
7. Using a hypothetical example, elaborate the working of investment
multiplier in an economy. 3
5 e P.T.O.
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8. ¢ S I ¥ ¥ fohdi <1 Tehashl % STUR W WRA 3T THfERT 1 wwen feufa it
AT 37 forgereor 6t :
31 T o | HRA hi G (TR Heheleh) (2015-17)

e
() | R 9y gL /1000 Shferd 5= 34 | 8 57 | 15
(i) | 59 & %A g & /1000 Shfea =1 39.4| 93| 66 | 88
(iii) | frgrsti &1 debreReer (DTP) % | 88 | 99 95 99
(v) | oepTd wTeed =9F (GDP % % o &9 1) 3.9 | 5.7 | 16.8 3

"a: HDI 20189 WDI 2018

9. i I sredferan # yufera whifasrt sTaue < fefa & fauen & foru fafir sueson &
TR T gTa fezm o |’
Teh hTeuieh Freferae H Thifaeil St shi feafa & s o fore ol <) wifes Afify
U T SeoiE I FUH H |

10. (a) () Fr=faRad srieel % UR W, WA ARG W That TER IS & oo hl

TTOTT R
HU . = T WS W)
(i) | wftreRt w1 uTierfies 12,000
() | asN 1,800
(iii) | 3TSreRT T 1,120
(iv) | ¥ 1,500
V) |gcTs™ 1,100
(vi) |39eH 210
(vii) | Toreet & T 3pg anee 3t (-) 120
(viii) | Tafentrat < fafsra s 1,300
(i) TorTam o Waedh o favg = |
areran
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8. Compare and analyse the health status of India and USA, on the basis of

any two indicators from the given schedule :

Indicators of Health in India in Comparison with other nations, 2015-17.
S. No. Indicators India | China | USA | Sri Lanka
1) Infant Mortality Rate/1000 | 34 8 5.7 7.5

live Births
(11) Under-5, Mortality Rate/1000 | 39.4 | 9.3 6.6 8..8
live Births
(111) Infants Immunised (DTP) in | 88 99 95 99
%
@1v) Government Health spending | 3.9 5.7 16.8 |3
as a % of GDP
Sources : HDI 2018 and WDI 2018.
9. ‘Keynes suggested the use of various tools to deal with the situation of
Inflationary Gap prevailing in an economy.
State and discuss any two monetary policy measures to combat the
situation of Inflationary gap in a hypothetical economy.
10. (a) (1) From the following data, calculate the value of Gross National
Product at Factor Cost (GNPp() :
S. No. Items Amount in
R Crores)
1) Compensation of Employees 12,000
(11) Rent and Interest 1,800
(111) | Indirect taxes 1,120
@1v) | Profits 1,500
) Depreciation 1,100
(vi) | Subsidies 210
(vii) | Net Factor Income from Abroad (- 120
(viii) | Mixed Income of Self Employed 1,300
(i1) Distinguish between Rent and Royalty.
OR
7 e P.T.O.
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(b) () TeuTT RS o ITUR W, AGT AT W G Yo Fg hl TUHT e -

A . = AN’ 000 H)
Q) | TSR H e b1 sk 580
(i) | 3FI T YW HTIHA 400
(iii) | PR R I1EA BT hA 20
(iv) | = % SR =Ted T T-IT9IT 15
(V) | SFT T I o T I TEETE W T 20
(vi) | SR GRI AT JoTeh SUGH 3

(ii) IeATEA & Yo' I Hod Fe | fereig L |

11. (@) “g & fedi 3 vid TR 3 ard faferean ugha i gasiifad o cehiis i &
foTe weeaul eH Jeu @ 1
T 319 U TTT e & TAd & ? A RO gRT 370 ST H IRyt |
(i) “HRIT HT AT YA eferawen i ush Farht goen @ g 17 o=
et g1 feu TTe sher 1 gy i |

frefaiRad e w1 SAgEeh 31E9EF i qUT T 9@ 12 9 13 % WL :
i i srefearen # SR < 3r0er A itk A w1 WA — SoHe, 24 SR, 2021
=19 <At referaEt § 0dt 1 I Jfvges frasent <t 3mereRt @ 31ferek 7 | <A

It et wee (Real Estate) W F¥ar &0 o &1 Y@ L &1 7 | faga i
o TEEHT & Hror, =9 7 e 9 oot Tenfieht &= o fafrafirg s smy

H g |
%3 refenfEi 3 adue a¥ § GDP 3fg @ % 8.2% e a1 Jr Ay H
5% ¥ = A HIFAE S R |
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b)) @
(i)

11. @)
(i)

Calculate the value of ‘Net Value Added at Factor Cost’” (NVAp.)

using the given data :

S. No. Items Amount in
('000)

) Sale of Rice in the market. 580

(11) | Purchase of Tractor and Thrasher 400

(iii1) | Procurement of Rice by the government 20

(iv) | Self consumption of Rice during the year 15

) Expenditure on running and 20
maintenance of Tractor and Thrasher

(vi) | Fertilizer subsidies received from the 3
government

Distinguish between ‘value of output’ and ‘value addition’.

‘In the recent past the Government of India has taken vital steps to
revive and popularise Indian System of Medicine (ISM)’.

Do you agree with the given statement ? Justify your answer with
valid reasons.

‘Casualization of workforce has became a perennial problem of the
Indian economy.” Justify the given statement with valid arguments.

Read the following test carefully and answer, Q. No.-12 and 13, given
below :

Chinese Economy Risks Deeper Slowdown than Markets
Realise - (Bloomberg, 24th October, 2021)

China’s Economy risks slowdown faster than global investors
realise. It is pushing to cut its dependence on real-estate. It has
started regulating sectors from education to technology, as it is
facing power shortage and the pandemic.

Many economists have warned that the GDP growth rate will
fall to 8.2% this year and to below 5% in the next year.

9 ; P.T.O.
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= 319, ® gfg B FRR FE, FEAEA W HA FE T GHIEAT B
3reanefep fafamior & orme <t AT 91 @1 8 | T |wre S RS T st A,
el fommdt & GDP afig & 7 fommet 36 7.9% & Rt 4.9% <wieft 718 2 | forega
1 et 3 ST fert # ifers- 19 H 9fg o HR0T I8 T 3R 31 81 Hehd! 2 |

HEMI & T, K01 ARGHT bl 7 B o HRUT Tael & I et fmma o &
JrFenfert st sraferd fepu g o | =1 % wumE oft Siemam 3 o & st fo
a8 6% & i & forspra e A1 Swon <6t 2 | < 3 7 % g A, B Aifqai
T @ < % Hohd QU B, S8 TR Sehi G KN < STedehTTeTeh SieaTe ¢l | diued
Seh 3TTH FTST o T At T 3 BT & W et o1 foh, 3% 39 aN 8% Y Ihg W H
AR |

HIfrg-19 1 9T 6 B & T, =9 ¥ 5t 31 @ 7 | =4 4 ey a1,
a5 T gt S gfaor anhieer, stiefomn, e, o9& 9 sefter S& gl 7 ot
S fe@ms ¢ @i 2 | i s weifdEn, g g gl S ugh @ o gt
L THAT & |

T 31 ¥ I8 +ft 2 fop, <fi7 & fifa Fmfareti =1 aue o v w s &
fou werd e o wehar & | Irfwnfert % gER foea At @t S fe sfenfie
IcUTEA 1 HH B TE 7, A a1 7 e # gfg @ oft ww @t | 38 yeR
&1 i 3Ter o vt T K Hehd! & STafeh forerd o foheeta s B8Rt |

12. =it stefoueen & 1) <94 a1et foregl €1 ST &1 Jeci@ & U R |

13. U@ forgl <1 SUT ohl st i, TS 3119 =i o 31T HeTTgeh i o &9 § &1 ¥ehd 3 |
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China is now planning to stabilise debt growth, curb inequality
and channelise resources into hi-tech manufacturing. Data released
in last week already showed a sharp slowdown in third quarter GDP
growth to 4.9% from 7.9% in the previous quarter. There is more
pain likely to come as electricity shortage persist, while new COVID-
19 infections are expected to rise in coming days.

Even before the pandemic hit, China was surprising economists
with slower-than-expected growth rate caused by the easing off debt
risks. China’s Premier Li Keqiang, announced in March a growth
target of “above 6%” in the coming financial year.

China has signalled, in recent weeks that it could loosen some
policies like telling banks to pick up the pace of mortgage lending as
a short term stimulus. Governor of People’s Bank of China Yi Gang,
recently said he sees an expansion of about 8% for this year.

China’s slowdown comes as the global recovery from COVID-19
risks looses momentum. Among those at risks from falling
investments in China are commodity exporters like Australia, South
Africa, Chile, Peru and Brazil. Slower trades could also hit countries
like Malaysia, Singapore and Thailand.

The other risk is that China’s policy-makers may struggle to
flick the switch back to growth model if they feel that’s needed.
Economists noted that the electricity shortages that are crimping
industrial production will make it harder to cushion growth by
boosting investment in infrastructure. That kind of policy could only
work next year once the power crunch eases.

12. State and discuss any two reasons that exhibit slowdown in the Chinese

economy.

13. Discuss briefly any two measures, which you may suggest as an economic

advisor to the government of China.
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